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FER12 5 1,857, 339 283, 081 15.2% 1,222,594 65. 8% 350, 959 18.9%
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26| B EFHET 6 3. 4% 26 | ) 7 BT 106 | 40.8% 26| 5¢ #0 &7 211 | 20.9%
27| Rz A ET 8 3. 8% 27| 5 IR &7 16 | 41.0% 27|74 AE B BT 29 | 21.2%
28| B HET 3 4.3% 28|)1 S &Y 24 | 41.4% 28| KiEHET 411 | 21.9%
29| BT 10 4.6% 29 | % BT 117 | 41.8% 291 EF 4/ KHET 55 | 22.8%
30 |8k Fa BT £ - F 10 4. 7% 30| 8= BT 4 & 8 | 42.1% 30| T #1#T 1,012 | 23.0%
31| B ERET 36 4.9% 31 (%7 E BT 44 | 42.3% S| ARBEEETH 56 | 23.2%
32|8R = BT A H 1 5.0% 32 |4k BT 532 | 42.4% 32 |BR &R ER BT 1,890 | 23.4%
33| K FHET 19 5.2% 33| B FA T 44 BF 186 | 43.0% 33| KT EHT 69 | 23.4%
34|RIGET—TH 11 5. 4% B|RERTZEF 46 | 43.0% 34|15 AR ET 257 | 23.6%
35 |42 85 3% 2 I By 3 5. 5% 35 | % A BT 34 | 43.0% 35 |HT I E HT 177 | 24.8%
36| fE A BT 8 5. 6% 36|45 By 25 £ AT 98 | 43.4% 36|k o BT 152 | 24.8%
37 | #ix s 375 AT 33 5.9% RUEELE S 5 65 | 43.6% 37| KO &y 358 | 24.9%
38 R = BT = K 8 6.0% 38 |8 7= BT 75 4 149 | 43.7% 38| 75 BT 200 | 25.0%
39|/ Ep ET 10 6. 0% 39| K F Hr 161 | 43.8% 39| L gh AT 153 | 25.2%
40| E BT 17 6.1% 40| L 48 B2 BT 127 | 43.8% 40|/NEp L HT 309 | 25.3%
A1|BRFERT A3 R 30 6. 1% 41|%A H BT 13 | 44.0% 41| = A HET 153 | 25.4%
42 |fa BT 16 6.3% 42| B ¥ BT 160 | 44.1% 42| A RET 2,480 | 25.4%
43| B % T 6 6.3% 43| Z EHT 124 | 44.3% 43| KR BHET 1,641 | 25.7%
44| 9 B AT 16 6. 4% 441~ T 357 BT 438 | 44.3% MIARBEZ=TH 95 | 26.0%
45 4= 5/ F1 BT 12 6.5% 45 |3t IR BT 91 | 44.4% 45| £ )1l BT 630 | 26.2%
46| ¥2 42 HE AT 33 6.5% 46(4EE H 2 LHT 40 | 44.4% 46|+ BT 482 | 26.5%
47|75 BB & #T 9 6. 6% AT|5E B/ FTET 83 | 44.6% 47)4% A #h BT 121 | 26.5%
48| & HET 29 6.8% 48|z (A BT 94 | 44.8% 48|%% i BT 120 | 26.5%
49|FEHET—TH 18 6.8% 49| BT 98 | 45.2% HARBEE—TH 62 | 26.6%
50|k A K BT 9 7.0% 50| FE BT 175 | 45.2% 50|y Fit ST BT 82 | 26.6%
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